
1. Carefully break your Hershey candy bar into 12 separate pieces. (Break it in half first, then into fourths, then finally into separate 12ths) Then put all 12 pieces back together so that it looks like the original candy bar. 

2. If you were to eat (don’t actually do it yet () 7 of the 12 pieces, what fraction of the candy bar will you have eaten?

3. What does the numerator from your answer in number two tell you?

4. What does the denominator from your answer in number two tell you?

5. What different fraction(s) can you make with this entire candy bar that are equivalent to 1/2? List below.

6. What different fraction(s) can you make with this entire candy bar that are equivalent to 1/4? List below.

7. What different fraction(s) can you make with this entire candy bar that are equivalent to 1/3? List below.

8. What different fraction(s) can you make with this entire candy bar that are equivalent to 1/6? List below.

9. Circle the section that is largest and explain why? (Circle both if they are =)

3/12 of the candy bar 
or
1/4 of the candy bar

Explain:

10. Circle the section that is largest and explain why? (Circle both if they are =)

2/3 of the candy bar 
or 
8/12 of the candy bar

Explain:

11. Imagine that you go to another country where they have never tasted Hershey’s chocolate bars and it becomes so much of a novelty to the people of that country that they offered you $48 dollars for just one bar! How much money would you be making on each of the different sections listed below?

1/2 - $



1/12 - $

1/3 - $



3/4 - $

1/4 - $



5/6 - $

1/6 - $



11/12 - $

Extra challenge ​(You do not have to do… work on if you get done early ()  - How many of these candy bars would you have to sell ($48 price) in order to make enough money that you could treat yourself to a $10,000.00 shopping spree assuming that they cost you only $1 dollar to purchase in the United States?

12. If you eat 4 Hershey bars and a third of your friend’s Hershey bar, what fraction of one Hershey bar have you eaten? (Hint: Your answer will be an improper fraction, which means your numerator will be higher than your denominator)

Improper fraction:

Turn you answer back into a mixed number. (Mix of a whole number and a fraction)

Mixed Number:

13. YOU HAVE EARNED YOUR REWARD! ENJOY YOUR CANDY BAR!

Riddle – What weighs more… a pound of feathers or a pound of Hershey’s chocolate?

